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Multiple Choice

Q.No: 1(2[3(4]5[6[7[8[9]10[11]12|13]|14]|15]|16]|17|18]19
{a,b e d}
ETT =1, (kN ;
Q. No: 1 ﬂh_’ﬂ:;nﬁac (n) is equal to:
(a) oo (b) tanl (¢) O (d)

(). No

Q. No

Q. No

Q. No

Q. No

(. No

Q. No:

Q. No:

cos~ 1 (z)
M L / f/i___gfﬁdr = f(xz)+ ¢, then f(r) is equal to:

{ﬂ} Ecm-"{:] [bj E-—mr‘{::} {r} . Ecm“ﬂ_t] {d} Eain—l{:}
: 3 If In (2%) = In (4 — 4), then the value of z is equal to:

(@) —2 (b) 2 (c) 1 (d) -1

1
: 4 The integral f:r{l --]IlI]dI is equal to:

(@) —Injl—Inz|+¢ (b)) m|l —Inzj+e¢ (¢) —In(l-Inz)+c (d) In|lnz|+c

1 9 Hf:af(f'ﬁ}di = r, then f(z) is equal to:
@) ® = © 3 @ =
: 6 r]in;m (g— — tan~! :.,r) is equal to:
(a) oo (b) 1 (e) 0 (d) —1
. 7 If F(z) =sinh™' (tanz), then F'(z) is equal to:
(a) i (b) secx (¢) tanz (d) |secz]

8 The integral f Wz (6 — z)dr with a suitable substitution is equal to:

(a) /u’ﬂ — u*du (b) ffu?—gdu (€) fq,/'i]_l-ﬂ—zdu (d) ]v’B— u*du

9 To evaluate the integral f sec® rv/tan rdr, we use the substitution:

(a) u=secx (b) u=tanz () u=+tanz (d) u=sec*z




Q. No:

Q. No:

Q. No:

Q. No:

Q. No:

Q. No:

Q. No:

(). No:

72
o e takes the form:

+ y Br4C
[ﬂ} A + Bf_:..':fj_ (b] JH_ + ;:!4_.5;.'.1 {.ﬂ} .—"E.-.— + -EI+'F {d:’ Tq + ]_+1:_-+=-

10 The partial fraction decomposition of

11 The substitution u = tan (§) transforms the integral f dr into:
sinx 4 cosx

a) f —rimmde () / —mmade (0 f —rmmade  (d) f A

dx. we use the substitution:

12 To evaluate the integral f
x5 + :::3

(a) u=+/z () u=x3 (¢) u=uze (d) u=x}

dx

=]
1
13 The improper int alf
e o . e £ ]1131:')?
(a) converges to 0 (b) converges to 1  (¢) diverges (d) converges to — 1

14 The area of the region bounded by the graphs of y = z* and y = 1 is equal
to:

(a) ®) -3 () 3 (d) -3

e P

. 15 If a point has polar coordinates (—1, g) then its other possible polar coordi-

nates are:

@ (LF) © 1% © 0% @ -LF)

16 If a point has polar coordinates (2, j) then its ry—coordinates are:

4
17 The slope of the tangent line to the curve C' : & = cost , y =2sint at { = 3{
is:
(a) 2 (b) -2 © = @ =
3 2
18 The length of the curve C : x = isint, y =2+ jcost; 0 <t < % is equal to:
T w T 3
(a) 3 (b) 1 (c) 3 (d) =S



Q. No: 19 The surface area resulting by revolving the graph of the equation y = 1 — 1z,
—1 < r < 1 around the xr—axis is equal to:

(a) 2m\/2 (b) 4mv/2 (c) mV/2 (d) 372

Q. No: 20 If a graph has polar equation r = secf, then its equation in ry—system is:
(@) y=1 () (z-1+¢*=1 (0) z=1 2+ (y-1)°"=1

Full Questions

L]
Juestion No: 21 Approximate the integral f /1 + sin zdx using Simpson’s rule
0

with n =4. [4]

b

. 1 g
Juestion No: 22 Determine whether the improper integral f md&' converges or diverges
i

and if it converges find its value. [4]



1
(22 +z+ 1}‘&' 6]

Juestion No: 23 Evaluate f =

Question No: 24 Let R be the region bounded by the graph of the equations y = z* and
y=x+2

Sketch the region R and set up (Do not evaluate) an integral that can be
used to find the volume of the solid generated by revolving the region R
around the line r = 2. (Use Cylindrical Shell) [5]



miestion No: 25 Let R be the region that is outside the graph of the equation r = 1 and inside
the graph of the equation r = 1 + sin 6.

Sketch the region R and Evaluate its area. |6

Juestion No: 26 Let R be the region bounded by the graph of the equations: r = 2sec, 8 =10
i

and 8 = re

Sketch the region R and set up (Do not evaluate) an integral that can be
used to find its area. [5]



